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Match L1st-I W1th List-II and select

“the correct answer by using the

codes given-below the lists :
List-I .. List-II
A, Lamarck (i} Theory of
» ¥ & pangenesis
‘B. Weissman (i), Mutation
" Theory

C. Darwin  (iit) Theory of
inheritance of
acquired

- e =characters

D. de Vries (1v) Theory of

“Germplasm
Codes :
" A B C D

(1) (i) @) Gvy ~@)
(2) (i) Gv) () (@)
(8) Gi) @) @1 @)
4) i) @) @ Gv)

Which of the following is correctly
matched ?

(1) Volume of air inspired or
expired during normal
respiration — Tidal Volume
Additional volume of air a
person can expire by a
forcible expiration -
Inspiratory reserve volume
Volume of air that will remain
in lungs after natural
expiration — Residual volume
Volume of the air remaining in
the lungs even after forcible
expiration —Vital Capacity

)

&)

€Y

Gastric juice secreted in the
stomrach contains.the ehzymes :

(1) Amylase, Rennin, Pepsin
(2) Lipase, Tryps{n, Pepsin
(8) Pepsin, Lipase, Rennin
(4) Trypsin, Lipase, Anmylase
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(1) feefiften dadim

(2) <tdt.sh. I

(3) Vi i H
(4) 1S T A

TS % whREam fuge = wd
NATsTs -

[DhsCH

" h
(1) AxxAv>4m

th
(2) A= my

- _gh
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End product of break down of
glucose in absence of okxygen in
muscle cells are :

_ (1) Ethanol + CO, + Energy

(2) CO,+ Water + Energy

(8) Oxalic Acid + Energy
(4) Lactic Acid + Energy

Which one of the following does not
have an intermediate host ?

(1) Tapeworm (2) Plasmodium
(3) Liver Fluke (4) Round worm

Which of those is a true example of
live attenuated vaceine ?

(1) Diphtheria vaccine
(2) B.C.G. vaccine

(3) Rabies vaccine

(4) Cow pox vaccine

The correct mathematical,
expression of Heisenberg’s
uncertainly principle is
(1) AxxAvz LI
4rm
(2) A= h
my
@) mvr=R
2n

4 Axxsz-L
dm

The empirical formula and molecular
mass of a compound are CH,O and

180 respectively. What will be ,,
molecular formula of the compound ?
(1) CgH,g04 (2) CH,0
3y Cet 1505 4 C,H,0O,

wx.-_:]
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11,
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et oft wer] & @ die § 6.022x1023
WA / H9 € € 1 0.02 M H,S0, %
'100 mLﬁwﬁm@aH2504 amaﬁ
HEETE -

(1) 12.044'x 1020 3wy
2) 6.022 x 1023 37
(3) 1x 102 3

(4) 12.044 x 10?3 37
IR H;PO; % Hier F=mH X &, af
FEHT GOl W B -

X
M x @ 5

® 3 @) 5

o % Befien g § @, el

AT h) HETT TS ?
(1) Ca2*, Na* (2) CI-, Mg?t
(8) Na*, 8% (4) Nat*, Mg?*

Peffaad AR A adl 7di g 7

(@) Ik A e F FRor NaCl
St srae # faga =1 gares B
=

) mmﬁﬁﬂwﬁwm
YOS SU A 8 | {

(© = R -3t amaw dm,
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One mole of any substance contains
6.022 x 108 ‘atoms/molecule.
Number of molecules of H;S0,

present in 100 mL of 0.02 M H,SO 4
solution is
(1) 12.044.x 1020 molecules

« (2) 6.022 x 1023 molecules

(3) 1x10% molecules
(4) 12.044 x 1023 molecules

If molar mass of H,PO, is ‘X, then
its equivalent weight will be :

@ X @) -’25

@) % @ 38X

Ions.of which of the following pairs
have equal number of eléctrons ?

(1) Ca?*,Na* (2) CI, Mg2*
(8) Na*, 8% (4) Nat, Mg?*

Which of the following statements

are not correct ? ‘

(&) NaCl! being an ionic compound
18 a good conductor of
electricity in the solid state..

(b) Hybrid orbitals form stronger
bond than pure orbitals.

(c) The greater the charge on the
cation, the greater the covalent
character of the ionic bond.

(d The larger the size of the
cation and smaller the size of
the anion, the greateér is the

covalent character of an ionic
bond.

(1) (b) and (c)
(3) (a) and (d)

(2) (a)and (c)
(4) (c) and (d)
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13” Which of the following molecules

13. Prafafea s d @ fradt sfif
e Taet S 7 has trigonal planar geometry ?
(1) BeCl, @ NH, (1) BeCl (2) NHjy
@3) BF, @) H,0 3) BFy 4 H0
14, T=fatea ﬂaﬁ 6l 31@‘%[ I :Fi% 14“. Match the shapes of molecules with
HHT TR A Rrer fif the type of hybridisation’:
\mﬁ e " Shape of Type of
, YA %% Molecule Hybridisation
_ EET;EFI'{ i (a) Tetrahedral () sp3d
(@ wgewehm @ sp’d (b) Linear (i) spid?
(b) Wew @)  sp¥d? () Octahedral  (iii) sp®
(¢) IEwehE (i) sp? y (@) Trigonal iv) sp
@ B (iv) sp bipyramidal
Rt Codes :
e @ ® © @
o » @ @ | ® @) G @)
l (1) @ @G @) G @) @) Gv) ) @
. @ )G @ O @ Gv) @) @ 6
l 3 Gv) (i) @ @ @ Gi) @ @ G
@ i) @ O @ ,i
15, Prefaiag swgeit § @ Read safs @1 § 15, Which of the following molecules
ST St IMEUE ? has electrovalent or ionic bond ?
1) 0, - (2 NaCl | D0 (2) NaCl
{F 3 CCl, @ CHCI, @) CCL, (4 CHCl,
16. Pr=fifiga § ¥ f67 el gru foehol Wi | 16. Diagonal relationship is shown by
T S8 7 which of the following elements ?
(1) Ll-qa-Na (2) Be'@,'q'Al l (1) Liand Na (2) Be and Al
. e (3) Band P (4) Scand Ty
3) B@WP (4) Sc@Ti
17. ] ST 81 aTen o feud =i 117, The element with atomic number
27 81 belongs to —
0 s_wis @ posmiw 1 (D sblock (@) pblock
@ d-=iF , (@) f-wD - (3) d-block (4) f-block
18. P,S,CIaF # Rraeh! TURTS EEE L 18. Among P, S, CI, F, which element
R et s d 7 hashthle m;)st negative electron gain
. . " enthalpy ?
P (2) 8 | (1) P @ S
3 Ci 4 F @ @) F
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ﬁmﬁa@a#%mﬁwﬁwaﬂm
o rg P s ReF duemmds ¢

R T T 1)

() B < C <N <O @99 a1 et
I sGT) .

(¢ I <Br < Cl <F (oA wisy
Gt T wgT)

(d) Li < Na <K < Rb (uifcrs fisan |

1 HET)
D @3B (@ @IKE
@ MM @ @R
[OH7] = 102 M W& [H,0*] = 1010 M
a1t NaOH ¥ &g fyeram &1 pH g

(1) 4 (2) 10
3) 6 4 14

IPFET (A) ; 3R wEie T v el
TS iad waEae |
F (R) : Wi o<y b e ov &
3R NH,OH W& gder 81K 8 |

(1) (A) IR R) o 77 § 3l R),
(A) <1 T TSI AT |

2 (4) 3R (R) Il ¥ & 9g (R),
(A) ! ug saTE TR AT e |

(3) (A) T, g R) B I

(4) T (A) 3k R) s £ |

Th TH @& A B, % forg e (o)

3t feretaan orwer (K, ) 3 e &
. 3"

s xtv
) K(ﬁ]

{(2) s=

(3) s={ 2

(
@ s=[———

(@) A%t < Mg?* < Nat < F- (ama®

it s s g i

19.

%?%

20.

21.

22.

In which of the following options

order of arrangement does not

agree with the variation of

property indicated against it :

(@) APB* < Mg2?* < Nat < F-
(increasing ionic size)

() B<C<N<O (increasing first
ionisation enthalpy)

() I < Br < Cl < F (increasing
electron gain enthalpy)

(d) Li < Na < K < Rb (increasing
metallic radius)

(D) @and () (2) (a)and (c)

() Mand() (@) (c)and (@)

A basic solution of NaOH having
[OH]=104M and [H;0% =101 M

will have pH
1) 4 2) 10
3) 6 4) 14

Assertion (A) An aqueous
solution of ammonium acetate
can act as a buffer.

Reason (R) : Acetic acid is a-weak

acid and NH,OH is a weak base.

Both (A) and (R) are true and
(R) 1s correct explanation of (A).
Both (A) and (R) are true but (R)
is not correct explanation of (A).
(3) (A) is false but (R) is true.

(4) Both (A) and (R) are false,

For a general salt AyBy, the
relationship between. its solubility(s)

(1
(2)

and solubility product K, is:
1
s |x+y
D K (W]
Xty
@ =[ "o ]
X*.YY
1
K xty
@) —[xx f‘f{y]
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23, T FIoY-h AT
| A(l)+B(l)——*20(l)+D(l)AH + ve
f 7 ¢ D Frafey wen S i § -

(1) Wﬁwl

P)) mﬁwaﬁtwﬁW|
(3) TR 3T T ST i HeTeRT |

(4) TrE TG |

PR 1 & S b suee e Ty
ﬁwﬁmﬂﬂwmaﬁmﬁhm% ?
(1) CrO;, CiO; - CrO%, MnO;
@ Ci0;, CrO;, MnOj, CrO;
@) Cr0; ClO; MnOj CrOF
4) CrOY, MnOj, CrO; ClO3.
A (A) ; WRREE whRe ek
ﬁ%&lﬂqaﬂgﬁg%aﬁaaﬁrﬁm’mﬁqﬁ?ﬁz
I HTABIER 5 T FAE |
%R (R)
i smen +2 ¥+ 7 S aea W § |
(1) (4) 3 (R) <At @ § 3 @),

(A) < g T A | [

@ (4) 3k (R) Iri & €, TG ®),

(AR T e T g |

(3) (A)wd, eg (R) 38§ |

@ T (A) 3R R) I |
ﬁmﬁiﬁawﬁwﬁ%wﬁﬁwm
§a=naé1?ﬁ=r‘%

(1) (CH3)30 > (CHa)ZCH > CH3sz >
L
| CH,
+ + +
(2) CH,> CH4CH, > (CHy), CH >
. +
(CH,),C
+ + +
(CH3)3C > CH4CH, > CH; >
(CH3)2CH ‘

24.

25,

26.

3

(4)
CH,
05

>

24,

: e % gum Al B

(CHa)ZCH > (CHyyO> CH30H2 > n|

I

!

7

23.

. Assertion (A)

" 26.

m 4 K.Gﬂg)z H>(CH3)3C >CH CH >
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For a hypothetical reaction

A+ B(l) 2CDH+ D) AH=+ve

the yield of ‘C’ and ‘D’ can be

increased by : .

(1) Increasing the temperature

(2) By increasing the pressure and
decreasing the temperature

(3)- By decreasing both temperature
and pressure

(4), By increasing the pressure

Wﬂl&’h of the following arrangements

représent  increasing  oxidation

nuxﬂber of the central atom ?

(1)4&1*02, 0103, Cr04 , MnO,
(2)%&103, Cr04 N Mn04, Cr02
(3) Cr0,, ClO; MnOj, Cr04

4) Cr0Y, MnO,, CrO; CIO;
4 3

: In the reaction
between potassium permanganate
and potassium iodide, permanganate
10113 acts as ox1d1$mg agent.

Reagpn (R) : Oxidation state ‘of

anganese changes from + 2 to
¢t~7 during the reaction.

(1) Both (A) and (R) are true and

iR is correct explanation of (A).

(2) Bodth (A) and (R) are true, but (R)

is not correct explanation of (A).
(3) (A) is true, but (R) is-false.

(4) Both (A) and (R) are false.

The correct order of decreasing
stabjlity of the given carbocations is —

ks + ..t +
1) {GHy,C > (CH,y),CH > CH,CH, >
e |
GH;
Fﬁx + +
(2) 1@H, > CH,CH, > (CH,),CH >
+ .
(CH,),C
3) (CH3)30 > CH3CH2 > CH, >
ég 3)2CH

SQH;.;
Kt
[ |
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27. CH;-C- CH, - CH, - C-OH®
IVPACT™ R —
(1) 1-TESRNRA-1, 4 — SEAH
(2) 1, 4 EzaiaERATS
(3) 1 - BEEERA — 3 — 37
@) 4 — AFEgorieE v
28, HETRH® ﬁqﬁw i deeim ffy 4
AR T I B T P S 2 -

(1) CO,% @@ i CuO F &
2) 7% H,S0, %9

(3) W HCl & a7

(4) &% CH;COOH % a™

& i afufra Pl § 9 fewwr
IEET R ?
CHS\ ‘
C=0+HCN—>»
CH3/ CHs/I
(1) sl I i
(2) TirRtrRt e Il
(3) TR ik e APIfE

(@) T SR R

feffes 4 & fom o & -3
R ?

(2) BF,, NH,, H,0
(b) AICI, SO, NO,
(© NOj, C*H,, CHy—C*=0

29.
CH OH
3
N\ a /

CN

30.

) C,H;, C,H,, C,Hy
Q) @I (@ (a3
@ ©E3m@ @ Gb)E &

v

i

28.

H

| 27. The TUPAC name for

29,

30.
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?I) 0
CH;-C - CH, - CH, (") —OH is -
(1) 1-hydroxypentane-1,4-dione
(2) 1, 4-dioxopentanol
(3) 1l-carboxybutan-3-one
(4) 4-oxopentanoic acid

. (FL

+ -

In the Kjeldahl's method of
quantitative  @&Stimation, the
compound cont&iding nitrogen is
heated with : D
(1} CuO in an atmosphere of CO,
(2) Conc. H,80,

.(3) Conc. HC!
(4) Conc. CHSC(%SH

The reaction givéiis an example of {
which of the following ?

CH, \ CH3\ / OH

C
/ ) \
CH;, CH; CN

(1) Electrophilic addition reaction
(2). Nucleophilic addition reaction
(3) Free radical egdition reaction
(4) Electrophilic s’.:l;lgstitution reaction

- = 4
Which of the ('I'?)Ilowing groups ’
contain only eleca:_g')philes ?

(a) BF,, NH,, H,0
(b) AICl,, SO4, NO;,

oot T :rz
(9 NO,, C*Hy GH,; - C*=0
(d) CzHg’ Cszng;

(1) @and @ K@) () and (©)
® @and(@ €@ ©)and ©

e

4%
c=0+HC§—,-—>

o oy -

o o ST TP

05
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32.

33.

34.

35.
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At wEw W Gel WEH (SR

Prffa § ¥ frg wEiaRme o &

RIS TE Hieaan s & )
1 T B TS FT<T BT ] 7

(1) RS I (2) SYSITH I
(8) THFIIEH A (4) AT A
et aree W Fefilea 3 & % &
Ueh et B! T v AT ® ?

(a) CH,—CH=CH-CH,

(b) 01,{3—('}3 - CH=CH,

CH,

| CH

=
CH,

- CHy
) (CHp,C= o<CH

©

3
2 (@ 3R ®)
@) (a) IR ()
ng"'/H*

HCECH"‘H—OH—WA

i SRR F AR ?
(1) &= (2) W=
3) A @) TRl

e R s AR R 7

oD o

-0

39 (T v ws St afy & Treeht
(1) sFEwE R g |

@) o2 feg v T |

3 i @ g T alt

1) (b) 3 (©)
(3) (03 (d)

@)

J

|

(4) AR e fm

I’
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31. Sodium salt of which carboxylic
acid on heating with soda lime

| (mixture of sodium hydroxide and

" calcium oxide) yields propane ?

(1) Propanoic acid

(2) Butanoic acid

(8) Ethanoic acid

, (4) Pentanoic acid

32. Which of the following alkenes on
ozonolysis give a mixture of
Ketones only ?

() CH;— CH=CH - CHy4
(b) CH;- (IJH ~CH =CH,

CH
CH

@ ©Hy,c=c(
C 3

(2) (a)and (b)

(4) (a) and (d)

g2+ TH

33. HCECH"I‘H—OH—:;SS—K-')A

What is A in the above reaction ?
(1) Ethanal (2) Propanone
(3) Methanal (4) Ethanol

34. Which of the following compounds
is not aromatic ?

0 @

t. D

'35, Solid angleisa quantity which has
(1) Both unit and dimension
(2) Dimension but no units
(3) A unit but no dimension
(4) No unit and no dimension

3
CH,
C<CH3

©

(1) (b) and (¢)
(3) (¢)and (@)

Apc
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36.

317.

38.

39.

40.

41,

,Uﬁ?m‘ﬁ?iﬁl'lﬁl=(4i004)(9m fwan
= (0.2 £ 0.002) cm agrg

m = (0.3 £ 0.003) gm 3, NEF> Tl

%maﬁatfﬁmqsrﬁmagﬁﬁﬂ

1) 2 2 4 !”3
3) 24 4) 3
@i +4J)W(1+J)%aﬁ&w§§%—

@ @ LD
5oy

w 5D

269

& Wil & wRorht 3 sl w§ =W
GRETOT SHAT: 17 SoRTS 9T 7 SR B 1t

1+j

7G +3)
3) —

39 e TR Y T wR, W

qitert w1 aimm 2 -
O 13 (2 14 &R
@) 15 @ 16 %

mﬁhtmﬁaﬁtﬁﬂ%gﬁa@aﬂ
& — T U1F BT
(1) o @it
(3) THIETH -

2 &
(4) T AREAT

wmﬁf@mrmﬁ‘w%xmfhél
7g 1 km St 7§ 9 @ 9o 9
16 min FURFA lﬂ%qmeﬁ}am% -
(1) 1km/h @) 3 ki
(3) 4km/h @ 5knﬁﬁ

Trelt weg’ 1 wam e el

WS :

p(t) =et + 2+ 20

Wt = 0 R e T a5 5 3
1) T (2 1N
3y 2N 4) 20N

ﬁﬁ?ﬂ

&

=

38.

39,

" 40.

41.

10

36.

37.

GET IT ON
Google Play

A wire is of length [ = (4 * 0,04) cm,
radius r = (0.2 £ 0.002) cm and
mass m = (0 3 + 0.003) gni, the
maximum percentage error in
density of its iatter is —

(1) 2 2) 4.
(3) 2.4 4 38
A A

The component of (31 + 4j) along
AA
(i+j)is —

A A - f.}: 7({\411}
@ 1 @ 1D

7( D) 50+
3 1+ ] 1 14 ]
3 — Gy —
The maximum and minimum

magnitude of the resultant of two
vectors are 17 unit and 7 unit
respectively. If these two vectors
are at right angle to each other,

then the magnitude of their
-resultant is —

(1) 138 2) 14

(3) 15, 4 16

Velocity-time curve for a body
projected velocity upward is

(1) a straight line

(2) an ellipse

(3) aparabola

{4) a hyperbola

The speed of a boat is 5 km/h in

still water. It crosses a river of

width 1 km along the shortest
possible path in 15 minutes. The
velocity of the rivér water is —

(1) 1km/h (2) 3 km/h

3) 4km/h (4 5km/h

The momentum of the body is given
by the equation

p(t) = et + t2 + 20

Force acting on the body at t =0 is
(1) zero (2 1N

3) 2N 4) 20N

05
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42,

43.

44,

46.

v 37 & Tl m §EE W O Tied
IR S < THS H g€ ST ¢ | m/3
g w1 Tawn TR tearl & @ @R R
13T BT -

L I @
3v
3 5 4)

G‘l‘ﬂﬁﬁﬁﬁ“@*ﬁiﬁ‘[2m/&;@ﬁ§l§»‘ﬂﬁﬂ
2 A ok wiftet Sl g | SR R | s
1 IE T 8

D) 2AV2 FHms(2) 22 —1)m/s
3 242 —1m/s (4) 22 +1m/s

2 kg 5oUM A & THF W G T
FrEBH § A T Ry T % |
x = 3t2 + 5 % AR qEerdl & @ 96 5
Yehvg 3 T G oA T T B

(1) 8503 (2) 875
(3) 900 & 4) 950

| o<

. wEEh T F= %m&wm%aﬁ ’

k TF G FEais R 1Al r = g ®
e ool I @ @ Rafke st 6
A § -

@) -k log, (;—1] @) —klog, [z—g]

k | (@ k1l x
3) klog, [-r—] 4) log, |5 Yo
TG e T AR A owo T 9w
39 T S 3 er fEr feed, g R
Tl Ta% TEHM g 1 @ a § | Al ==
S Tt 6 T % U TNORIE A el
T T3 b Topereran & <t TRoT 8T -

(1) %a P) %a

7 5
3 . 52 (4) 78

42,

ok

43.

H

ﬂ

11

‘44,

45.

A shell of mass m moving with
velocity v suddenly breaks into
two pieces. The part having mass
m/3 - remains stationary. The
velocity of the other part will be —

(1) zero (2) %
3v N .
6)) 5 @ 3

When the speed of a body is
increased by 2 mfs,. its kinetic
is doubled. The original

-enerﬁy is
speed of the body is —

1) 22 +Dmlis (@) 2(v/2 —Hmis
3) 242 —1m/s (4) 242 +1m/s

A force acts on a 2 kg object s0
that its position 1s given as
function & time as

x=8t% + 5.
Then work done by this force in

first b seconds is :
il; 850 Joule ?2; 875 Joule
3) 900 Joule 4) 950 Joule

A conservative force is given by

F = E , where k is a positive
r -

constant. If the potential energy is
zero at r = 1y, the expression for

potential energy is —

(1) —klog, (%] @), —k log, (:—g)

2
3 klog, [r—ﬂ) @ klog, (r—J
r 21'0

. When a solid sphere rolls without

slip]?ing down an inclined plane
making an angle 6 with horizontal,
the acceleration of its centre of
mags is a. If the same sphere slides
down _without 7olling on a
frictionless inclined plane of same
mclination, then acceleration wiil be

5 7

5
@) \/-;a

7
©) (52

‘,U-",
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47, PEdlem e Y v

. 49,

48.

50.

(D) R $9 @ 9@ 7= T A T
AT ST E AT |

(2) HIviE a1 Td Hoig I G
TR R A E |

(3) ok ot e S I A A T
Hvig w8 Fag war e )

@) v aw S wE R

- Toufa % =i 3 6 R w9
1Y 78T FEert R |
o # it =i @ T F R
B, = 0.4, . = 0.3, 58AH = 50 kg 7o
F = 450N, 6 &Ai. %1 R0 & —

(2= 10'm/s2ehfRm 1)

7,
I —F
P L
(1) 6 m/s2 (2) 9 mis?
(3) 4.5 m/s? GRS

2 kg % T STEITHR S Bl TH Haeq
¥ F o0t §aR Y He W@ S R |
AR 1, = 0.3 Tt A =iF. F RR T &
fore P st e A & — '

~

| N 7777.

@ 294N,
(4) 947N

(1) 653N
(3) 59.8'N

Th o] F1-TR P I TR W48 N2 |
yoft ft v ¥ et B e oo ¥
TR FEE W 58 R et 5 R
AT TR TRY ST B -

(1) 24N (2) 21.33N

(3) 6.93N 4 12N

i

50.

12

47.

48.

(1) 6 m/s?

49,

Which of the:following statement is
NOT correct ? _
(1) If total extérnal force is. zero

then-total torque may not be

’ 2810,

(2) Angular momentum and
angular velocity are always
parallel vectors.
If total external torque is zero,
then total angular momentum
remains constant.
For rotation about a fixed axis,
the direction of the angular
velocity does hot change with
time,

3

4.

For the block and surface shown in
the figure, B =04, 1 = 0.3, masgs =

50 kg and F = 450 N. Then the
acceleration of the block is —

(take g = 10 m/s2 y
———F
77777777

(2) 9 m/s?
(4) zero

(3) 4.5 m/g?

> A rectangular block of 2 kg is held

against a wall by applying a
perpendicular force F. If p, = 0.3,

then the minimum value of .F to
keep the block stationary is —

7
%
(1) 65.3N (E) 294N
(3) 59.8N (@) 947N

A body weighs 48 N on the surface
of the Earth. The gravitational
force on it due to earth at a height
equal to half the radius-of earth
from the earth surface will be —
1) 24N @) 21.33N
3y 6.93N 4 12N

05
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53.

ot 3 ol SRR T SR SR A S
| 3 el sperehR e A TR A EIR |
o L 9 K 3% 0 Shiiig He
et vt 8, ¥ Rl % for e 1 e |

2 W el A g |

D) L,>LyK,>K,
@ Ly>TyK, <K,
@ Ly=L; K =K,
@ L,=L;K,>K,

e w1 O B3 H A 1 om auT-weTg

2me12x10° N H F 70 W Fhl
waE % iy amar @ | af e w19

TEQTERT 0% 2 x 101 N/m? &, @ 88 |

Afefie - |
Q) 1.6x103 (2 3.2x103
(3 1.6x102 (4 3.2x10-2

g a1 A, B@ C % fomg wfveer fola
Feig R & ewie g § | A o w9l
M |9 A, B S C % I T o0
I YA,YBHYC%?ﬁ

a

1) YA<YB<YC @ Y,>Yp> Y,
(8) Yp=Yg=Y, @) Y,=Y3>Y;

. e A %1 g g B w-oT & o O |

7% i il <1 ST & -
(1) 1:4 @) 4:1 ”
3 1:2 4 2:1

l 54.

|
|
|

13

51.

52.

53.
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A small satellite is moving in
elliptical orbit around the Earth as
shown in figure.”If'L and K are its
angular momentum and kinetic
energy respectively, choose correct
‘statements for these guantities at
locations 1 and 2.

(D) Ly>Ly; Ky > Ky
@ L,>L; K, <K,
@) Ly=Ly; K, =K,
4 Ly=L; K,>K,

A steel rod has a-radius of 1 cm and
length of 2 m. A 2 x 105 N force
stretches it along its length. If the
Young’s modulus of steel is 2 X 1011
me2 then strain in the rod is —
(1) 1.6x103 (2) 3.2x10°3
(3 1.6x10% (4 3.2x102

The stress strain relationships for

-three wires A, B and C is shown in

figure. Assume load applied are
same. If Y,, Yg & ¥ are Young's

modulus -:ﬁA elastlclty of A B& C
respectively then

B

C
Stress

Strain

D) Y, <Yp<Yy(@ Y,>Yp>Y,
The diameter of ball A is half that

of ball B. Then ratic of their
terminal velocities in water is

(1) 1:4 2 4:1
3 1:2 4 2:1
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T i & HIY Y O (1) —

(1) zai % g =g  aun A6 & R
AR |

2) 7a % forg wear & won At g
TG el

(3) 3 aur el gt % g agar } |

(4) zat aur el QA1 % T 2|

TR - AT T UE SEh! Sieesa

9 WAl WeEdl 8, W Wioluewa 9

STl 1 I

(1) RrwEag|

(2) SFR |

(3) W |

(4) €GN gET M9 W IRk Fem |

et o T 9K ABC ®7 2538E
10 g | 0 2A 0 Yaife &1 W ] | AR
w 2T oWl & THEAE g 8 &
<H)

XXXXXX

(2) 12m/s®, AB% agitmr
(8) 1.2 x 101 m/s2, AB % Jfem
(4) 0.6 x 10-1 m/s2, AC % 3R

A T%d B TF TS FI T gEEN
g5 (Fveet & q@ F wneq), @
T % -B ® 5B G W8 8, 3
@l T § | peeeh ¥ W A sa -
‘?lﬁ'qTUT%:
(1) IGBA.

Tt
3

) 4BtA
24BA

— 4) o=

55.

o

56.

- B7.

58.

14

-..‘w'

As the temperature -rises, the
coefficient of viscosity () —
(1) increases for liquids and

decreases for gases.

(2) decreases for liquids and
increases for gases.

(8) increases for both liquids and

- gases.

(4)" decreases for both liquids and
gases.

As temperature of a conductor

increases, its  resistivity &

conductivity changes. The ratio of

resistivity to conductivity

(1) remains constant

(2) increases

(3) decreases

(4) may increase or decrease
depending on the temperature.,

A uniform conducting wire ABC
has a mass of 10g. A current of 2A
flows through it. The wire is kept
in a uniform magnetic field of
strength 2T, The acceleration of the
wire will be (see fig.)

XXX XXX

(2) 12 m/s? along AB
(3) 1.2'x 1071 m/s? along AB
(4) 0:6x 101 m/s2 along AC

A coil having an area A is placed in
a magnetic field (perpendicular to
the plane of coil) which changes
from B to 5B in a time interval t.
The magnitude of emf induced in
the coilis :

3) -%?i (4) zexo

05
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89.

60.

61.

62.

63.

64.

65.

05

weh firem W ag 3 e fR Tl d R W
e feae I T S 3

i
e=g Ty
1 1 ”
@ 4

2) 2
5
(4) 5

et sow e R weE gl 20 em B
T 30 cm Y Gl W T NHRME T
Tt it R, S| % gl otk feaelt gt W
IOCmﬁﬁﬁTﬁﬂTEﬂﬁﬁmt@Tﬁm
s g s Wi SE WA & 7
(1) 12cm (2) 380 cm

3 B0em, ; (4 60cm

aye % oo 3uahT 6T 9 9 TRk
IUFT i 25D qUT BT
20D ? | Fiee! 6l EFTs 25 em & | @
W A TE R I H TENE

IUSHT] 1 BT TTHT B -
(1) 1.25 (2) 31.25
(3} 37.2b (4) 42,25

-2 W Pefaiea 4 & fead
T I ] ?

(1) g

(2) mRNA (Sibiaies)

(3) rRNA (WislEies)

(4) tRNA @HREeH)
Wﬁuﬁh%&rmm%

(1) 2n—1—1%gN

(2) 2n—2FFR ‘

(3) 2n+1+ 1A

(4) 2n+ 2% T
Frafefias & 4 3 w1 o iR =
IR ] ?

(1) =EuskET
(3) SrEE

(2) diefisfRar ”
(4) uiepaTig,

Frafafea d @ <5 w1 Sieu & A

T G0 TE TS ?
(1) HET

_ (@) Rfsen
(3) HfdeH

(4) Rraw

|

59. The ratio of angle of minimum
-deviation of a prism in air and
when dipped in water will be :

! (ngzg;nw ='fl"]
; 2 3
(2

.%% D 1

) 2
53
.’ 3 bl
K @ 2
'60 A luminous object is placed at a
distance of 30 cm from convex lens
. wof focal length 20 em. On the other
side’ of the lens, at what distance
‘from. lens a convex mirror of radms
of curvature 10 e¢m be placed in
‘ order to have an upright image of
the object coincident with it ?
(1) 12em - (2) 30 cm
(3) 50 cm (4) 60.cm
An optical instrument used for
magnificatioh has a 25D objective
and 20D eyepiece. The tube length
i 25 cm. The  angular
magnification of instrument, when
the eye is least strained will be
1 (1) 1:25 (2) 31.25
(3) 37.26 (4) 42,25

61.

13

’ 62. Shme-Dalgarno sequence is found
. in which of the following ?

(1) Primer

(2) mRNA (prokaryotes)’

(3) rRNA (prokaryotes)

(4) tRNA (of eukaryotes)

63. Nullisomy can be represented by :
1) 2n—-1-1 (2) 2n-2
1 (B) 2n+1+1 (4) 2n+2

| 64. Which among the following is an

example of hemichordata ?

(1) Spirobrachina

(2) Polybrachia

(3) Balanoglossus

(4) Amphioxus

Which among the following is the

longest segment of walking leg in

cockroach ?
(1) coxa

! (8) femur

| 65.

(2) tibia -
(4) trochanter

15 o
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419 e T g2t it wgmEar § aeRd $a
% Tafdre wemn w1 = Hif ;

A. TS TEETA

B. YHER IS T T g H @ier
C. s fgatsdia )
ﬁ: - -

(1) A, BwaC 2) AT B

(3) AwWC (4) B C
3T N1 U Fhee B - |

(1) TER 3T 9 THifesh a7t
(2) sl Tt wHifew et =
(3) giee I | TR A

. (4) ITHNT A F i 3T

Frafafes 4 4 o9 & e gl g o

W ?

(1) MRCS (2) MRC9

(3) Hela (4) W138

5 F 3 S B |

(1) TSI, YOI T YT

(2) Agety, W@W

(8) Tpesliony, Tl TH YOI

(4) e, SiTeer F Hel

YUTHIY o R (HieT-1) hi o (@ier-10),

i} o8 uman e ], | FAlE e Hioay,

% e fou 7T el Y HEEaT § W6 IR

wH G HIN ;!
T Heml wHiem—11

A. THETR (@) MFd
AHEhI YT

B. fsfiemoer (i) JwfrEr
FATHEH TR

C. Igeliso 16
R YOI

(iif) fpfesitar

I S
T B D
() @ Gv) (i) @i
(2) @) Gy Gv) Q)
3 @) (i) Gv) (i)
@) (i) Gv) @) O

i

16

» in

66.

68.

69.

70.

"~ A. Monosporic

Select the characteristics of family
Malvaceae using the codes given.

below :

A. Petals are five and free

B. Stamens are indefinite and
fused in one group.

C. Gynoecium-is bicarpellary

Codes:
1) A,BandC (2) AandB
3) Aand C (4) Band C

67. Acid rain is a'cocktail of ;

(1) Sulphuric acid and acetic acid
(2) Nitric acid and acetic acid

(8) Nitric acid and sulphuric acids
{4) Sulphuric acid and formic acid

Which of the following is the oldest
continuous cell lines ?

(1) MRCS (2) MRC9

(3) HeLa (4) W138

In Pinus, the haploid structures’are :

(1) Megaspore, endosperm and
embryo

(2) Microspore, megaspore and
endosperm

(3) Megaspore, leaf and 'endosperm

(4) Megaspore, integument and
root

Match the types of the embryo sac
(Column-I) with the genera in
which they are found (Column-Ii)
and select the correct answer using
the codes given below the columns :
Column-I Column-—I1
(1) Oenothera

-

4 nucleate

embryo sac
B. Bisporic

8 nucleate

embryo sac
C. Tetrasporic. ;

16 nucleate ™

embryo sac
D. Tetrasporic

8 nucleate

embryo sac
Codes :

A'B CD
M @) Gv G i)
(2) @iy @) Gv) G)
(3) () @) Q@v) Gi) -
@ @) vy @ @

(i) Peperomia
(m) Fritillaria

(iv) Endymion
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Y IR 's o
G')
71, fr=fiRea § Eﬁﬁm QST Tigdi o | 71. Which of the following mineral is
WW%%W% 9 essential for nitrogen metabolism
1) BfifRmm Y in plants ?
53; zfl; (1) Magnesium (2) Boron
TS R (3) Molybdenum (4) Manganese
2 ¥ '""'ﬂ{”ﬁéﬁ“ ' a1 ‘ls'liﬂﬁﬁﬂq 72. During photosynthesis which of th
. 72. During photosynthesis which of the
w/3 3 bl !I@aﬁﬁ Lk following are synthesized in
o owE WO W Bk § mesophyll  cells and . are
ARG A E ? c:; translocated to the bundle sheath
(1)- C, 3= 3 cells 7
M :
@ = !E‘ (1) C,acid
@) C, I (g) g“ga? ;
(4) THU T C, 30T (3) G acids
3 (4y Sugar sand C, acids
73. uftrel s el R
1) Co, g‘g 73. Prﬁmary precursor of ethylene is :
@ O (€O,
® s 2 @ Ammonia
2 o sy *  {3) Methionine
(4) RfereT S-TIMRH (4) Methyl S-adenosine
74. I%R’;IE'IHT ?:Flﬂﬁl‘:llaih :
W 3 # ” 74. The term neoteny was coined by :
(1 S, fema %-hm 1) G.Ki
. Kingsley
2) Wﬁj{?ﬁ“ (2) Julius Kollmann
3) T.H (3) A.S. Romer
@) HI. qﬁ;{%m@ (4) T.J. Parker
75. fuaffen d @ Eﬁﬁr filurers ©g | 75. Which of the following is an
aaﬁ%aﬁ(gﬁﬁaxnﬁ:ﬁm-go l inhibitory transmitter and an
(1) T amino acid by nature ?
1) GABA
g; SIS | 52; Acetylcholinesterase
: feee e (3) Histamine
(4 k= } (4) Serotonin
» 76, “@Wﬁﬂﬁ;{amﬁﬁﬂm% . . { 76, Scientific ndme of Khapra beetle is :
(1) TSt S "3 (1) Rhizopertha dominica
(2) TEeifeEn Seban n (2) Tribolium ¢astaneum
3) i\ﬁ@ﬁﬁﬁﬁ:ﬂﬂ g; g};ogtoderma gg'almlalu'ium
(4)ﬁ?§ i - itotroga cercalella
05 17 a
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77, ew-1 F Rg g dgper Wi A -

A. [Co(NH,),CLJ*

IT & Ru ¢ Gl SHmEEaw % WY |
gt O Hig g

wiew—11
(FHTEEE)
@) &

HieW-1
(GF= witeliv)

B. wu&-[Co(en),Cly)* (1) AT
C. [Co(NH,), SO,] Br (i) Swae@aisH

D. [Co(NH,),]

78.

79.

80.

81.

f(1) @ifEd .

(iv) S
[Cr(CN)g]

‘A B C D
() @ @@ Gv) (i)
2) Gvy (i) G) @
@) ) @O G (iid) .
@ O G @) @)
anfoyes st 7 Fefaiaa 3 @ =0 @
ToIAS e U TERia HI TR E ?
(1) Hep™ =0,0,0% 0
(2) Li2 = KK, Tagl
(3) 392 = KK, Oy 2 0'*231

T, 2

_ 2py
“) N2 =KK, LL, {7(‘. 2?("'.2p2
2

X
Pz

fred @1 W YeR 9 i gl

a#bsc ol o Py 90°R |

(1) THIaE (2) Tpivit
(3) B (4 TmwemE

g 1 D S @ REEE T R 7

(2) FmEm
(3) FRmitan () A

HEHRS T 8 HIK ¥ P faft
Cu,O TG - S1I=A 3 U1 <11 2 7

(1) FeS. 2) CO
(3) Cu,S 4) SO,
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78. Which of the following electronic
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b o A/

7. %tch the complex species in

lumn-I with -possible isomerism
&jven in Column-II and assign the
Iforrect code :

g Colurmn-I Column—II
(Complex (Isomerism)
Species)

A. [Co(NH,),Cl;]* @ Optical
B. Cis — [Co(en),Cl 1" Gi) Ionisation

C. @(NHa)5 SO, Br (iii) Coordination
D. [@po(NH,)q]

@GN)G]
OdKS . B C D
D o @) Gv a5

) av) @iy G) @)
(8) Gv) () @Gi) Qii)
4) @ @) @) G@Gv)

(iv) Geometric

arrangements in molecular orbitals
¢a correctly represented ? .
1) Heyt =6, 6%
2) L12 KK, 0yt
ﬁ) Be2 KK, g2 0%gq1

™ i, o9
2py
(4)- N, = KK, LL, { »Ogp2
Top
79. The type of crystal system when
axial distances a # b # ¢ and axial
@ngles o= f#y#90°is —
@3 Monoclinic (2) Trigonal
Triclinic (4) Tetragonal
80. ich of the following 18 not an
=sctinoid ?
P Thorium (2) Uranium
(3) Californium (4) Terbium

sulphide ore, the metal is formed
by the reduction of Cu,O with

(1) FeS (2) CO

(3) Cu,5 4 SO,

[% In the extraction of copper from

05
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82.

83.

84.

85.

86.

87.

05

|
<

2N;05(8) — 4NO,(® + Oe) W
Tisra 3 Rovg aftea 37 6.79 x 104 mol
L min 13, 7@ NO, Saamr i@

(1) 2.72 x 1073 mol L1 min-1

{2) 1.36x 10~%mol LI min-1 ”

(3) 1.69x 10~ mol L1 min-!
(4) 6.79 x 10~ mol L ! min-?

300 cm® N =1 el Rifvrm Rt 2g

WA ], % TUEW €W 300 K W

2.5 % 1049R R | R HT R s 2|
(1) 49.8 g mol-!

(2) 664000 g mol-L

(3) 600 g mol-!

(4) 199200 g mol-!

P ot d sl & By

TET?
Fe3*(aq) + e+ Fe?*(aq) E°=+ 0.77V
Zn?t(aq) + 2e~ = Zn(s) E°=-0.76 V

(1) 0.01V (2) 153V

(3) -1.563V 4 230V H
Stitrenor 1 SR & g Ry w

(1) AH>0 (2) AH =TAS
(3) AH > TAS (4) AH<TAS

I e TikEe, R 9 |

Fthilr 0 w du-amgi tET
T 8, a8 FrefaRen fem wer 6
afF g ?

(1) ToEHeE sl i
(2) PR ST s

3) TEZTEE JieTs ST

§4§ TR menes SRR

IR W & wufes YMgs RCONH,
3400-3500 cin~! % =19 € a=wivo dvg
NERiT W 8 | PO, A sfga w8 W
1 e iR sEid s —

(1) 8500 cem~!  (2) 3250 cm~!

3) 2256 cm™l (4) 1650 em™!
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82.

84,

- 85,

86.

87:

The average rate for the reaction
2N,05(g) — 4NO,(g) + 0,(g) is

6.79 x 10~¢ mol I;! min-1, then the

- rate of production of NO, is

(1) 2.72x 1073 mol L~ min-1
(2) 1.836x 1073 mol L'l min~?
(8) 1.69 x 1074 mol L~ min-1
(4) 6.79x10% mol L1 min-!
The osmotic pressure of a 300 cm3

- of an aqueous solution of a protein

containing 2g of the protein at 300
K is 2.5 X 10~4 bar, The molar mass
of the protein is

(1) 49.8 g mol!

(2) 664000 g mol™!

(3) 600 g mol-!

(4) 199200 g mol-?

What will be the E°.y from
following half cell reactions ?

Fe*(aq) + e~ = Fe?t(aq) E°=+0.77V

Zn?*(aq) + 2~ = Zn(s) E°=-0. 76V

(1) 0.01V (2) 1.63V

(3) 153V (4) 230V

At the equilibrium position in the
rocess of adsorption

?1% M>0 & @) AH=Tas

3) AH>TAS 4) AH < TAS

The reaction of benzene diazonium
chloride with phenol to Ewe -
hydroxy azobenzene is which of the
following type of reaction ?

(1) Electrophilic substitution
reaction )

(2) Nucleophilic substitution
reaction

53; Electrophilic addition reaction
4) Nucleophilic addition reaction

In IR spectra, primary amide
RCONH, shows two abs\orption
bands between 3400-3500 cm~!, On
treatment  with P,0;, the
compound formed absorbs at

(1) 3500 em™  (2) 3250 cm™!

(3) 2266 cm™! (4) 1650 em™!
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88.

-89.

90.

91,

92.

93.

oo

vl

FERitee 7 dieg feiffe & :

(1) HiA (2) TRHERA

(3) EDTA () frds

D(-) %, HNO, & sififrr g s g
() TR 3 iR I 3T

(2) e 3, wittere s Afeie
@) grETSEh wRRkE T, I,
" 3T R TOEEITCT 3T

(4) TeIohis i, wifeerer 3 Afeie
-6 % R % R e e §
(1) et

() Tt eRedn

(8) Ufehrs I

(4) afmw =

e 3 & # w1 wieres T8 2 ?
() w2 e

@) Tna (4) FERFHIAHE

m FSRNA I T TR g 6, T
O g i 7ig st Wi o fermreren §
2, & ol ey T (wege )
2 | TFR % RN QG U g W 8
HI SR GEIRAF B S | 0 FT AR R -

‘T T
(1) 1 (2) 3
3) -2“- @n

F = F, cos ot % g =ima § e
£, i Reeg o Gl & | <8 91T ST
2 R wrearEe # o % 39 "R S T

St 1 S 0.1 mm, 99 o = 100 |

rad/s. W AW, SHH 10 cm B ST

2 | P =1 Q ® @)
(1y 10 (2) 100
(3) 1000 (4) 10000

88.

89.

90.

{91,

"92.

93.

20
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The Ligand presentinr chlorophyll is

(1) Corrin (2)¢ Porphyrin
(3) EDTA (4)" Cryptands
D()Fructose on reaction with

HNO, gives :

(1) glucaric acid and gluconic acid

(2) gluconic acid, sorbitol and
mannitol f

(3) trihydroxy glutaric acid,
tartaric acid and glycollic acid

(4) -glucaric acid, sorbitol -and
mannitol .

The monomer used for preparation
of Nylon-6 is

(1) Caprolactum

(2) Hexamethylene diamine

(3) Adipic acid

(4) Phthalic acid

Which of the following is not an
antidepressant ?

(1) Iproniazid

(2) Phenelzine

(3) Equanil

(4) Chloramphenicol

A moving ball of mass m suffers a
perfectly_elastic collision (not head
on) with an equally massive ball
initially at rest. After the collision
the two balls fly off at.an angle 0
between them.

The value of 0 is —

1 T 9 T

oy 1 (2) 5

3 & 4

3) 5 @ =n

A  weakly damped harmonie

oscillator is driven by the force
F = F, cos ot where {; is constant

but o is varied. It is found that the
amplitude of the steady state
oscillations is 0.1 mm at very low
value of ® and attains a maximum
value of- 10 cm when o = 100 rad/s.

The Q of the system is
(approximately)
(1) 10 (2) 100
(3) 1000 {(4) 10000
05
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94; TEwH figd 87 % @ & agn Ry,
vt a7 Frga & <t R 4 8, s
TR —
(1) e g wemep! 7 .
(2) wememt g e Wi
(8) it uet 3k T & wemet
(4) =1 T sermeet
95. T AW U (p) T TG NI T
(p") % Ay wFay B .
(e, — W= S U T
' (D p'=pl+e)
@) p'=-p(l-g)
3 P'=P[-1+-81—]
96. T %1 e W = g & e gw ©
i ora1 ST 2 | 9 Ma Rem s £ e g
3 106 Smehie ikt wd g o840 ot
P51 9€ T TN T W § | gF
FIFAID B — o
» > @) % |
@ 2 @ 2
97, V8 @l % W T N g § 370 F

I8Edl I (glancing angle), T HaRE
a1 & O Eiia yer ofer: adad i
BT 2 1 9 ST auT Ee
IV AT T T § - y

Q) % WEE (2 i’- qT 37°

3) i;.aénsw @ %a%n- 53°

94.

96.

97.
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An electric dipole placed jin a.
uniform electric field, with its axis
in. the direction of electric field,
experiences —

(1) a force but no torque

{2) a torque but no force

(3) neither a force nor a torque

(4) a force as well as a torque

The relation between free charge
density (p) and bound charge
density (p') is given by

(e,— relative permittivity of

medium)
(1) p'=p(1l+eg)
@) p'=-p(l-¢)
3) p'= p(l + -1—)
s
@ p'=—p[1_i]
81‘

Young’s double slit experiment is
first performed in air then in the
Liquid. It is observed.that the 10th
bright fringe in liquid and 8t dark
fringe in air are formed at the same
place on the screen. The refractive

index of the liquid is —
3 4
(1) 5 2) 3
5 5
3) = 4) 2
3 1 4 3

When sunlight is incident on water
surface at a glancing angle of 37°,
the reflected light is found to be
completely plane-polarised. The

refractive index of water and angle

of refraction are respectively
) % and 53°  (2) .i_ and 37°

3) % and 37°  (4) % and 53°
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98.

99.

100.

101.

102.

103.

1l

400 K wd 800 K ¥ 1t 1@ UH HHL

o 1 Wi 5% Pl E 700 J & IR
% i & o B Y I el S S 8 —
(1) 11004J (2) 1400d

(3) 15004 (4) 350d

a s & 3 TREE T FARH it e
Tihret ol o fore vt g |
2

h
1) <K><-
W 2ma2
2

@) <K><

3) <K>=
® 3m

2
@) <K>2

2ma2 .

w Wi o I TR % GHRR
Thefier & | 9 SO g, 9% oRM
SO 1 %— R A T R Y
et Bl i Far e gl —

(1) 0.85m (2 0.75m

(3) 0.67m (4) 0.58m

>+ T FETE SUST T84T ST &

(1) uud (2) dss

(3) uds 4) uus

7z ‘o wa B5 it oft Rew @
fggr e Eeli 8 2

(1) vwfert (2) VRAHA

(3) sreed (4) =R

“fereeff lw <Y TP frnewt & gemn
3t N W TR TR e 2
Tiftrg & ~
(1) T

(3) g

(2) s
(4) fao

by

&

ey
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98. -A carnot engine working between

99,

100.

101.

102,

103.

400 K and 800 K has a work output
of 700 J per cycle. Heat energy
supplied to the engine from the
source in each cycleis—

(1) 11004 (2) 14004J

(8) 15004d (4) 3504d

Choose the correct relation for
average magnitude of kinetic
energy of an electron confined in*a
region of width a.

2 hz

(1) <K>< B 5 2) <K><
2ma

4ma12
2 2

h X
(3) <K>= 4) <K>=
3ma? 9ma?
A meter stick is moving paraliel to
its length. If its mass is % times
its rest mass then the length of the

meter stick as it appears to a
stationary observer will be —

(1) 0.85m @ 0.75m

(3) 0.67m (4) 0.58m

The quart.content of ¥ is given by
(1) uund (2) dss -

(3) uds 4) uus

Who stated that “Mathematics is

the gate and key of the Science” ?
(1) Leibnitz (2) Roger Bacon
(3) Dalton (4) Plato

“Student will be able to compare
and contrast the  different

operations of mathematics.” Above -

specific gbjective is related to
(1) Knowledge
(2) Understanding
(3) Application
(4) Analysis
. 05
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106.

107.
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X
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mmﬁw@w%m

'1—

(1) wReT 3T =
(2) SRR T H
(3) W

; . N
4 qsﬁi-“i‘" Jr\‘)

ﬁn%ﬁaaﬁﬁﬁqmwﬁr&nw
qgmﬂtrm%? 'm
(v T (2) g !
(3)* geaTgT

(4) SR
s )]

s fafs 35 G o R g
e fmsiw: o
A, TENTH E IRRE e
B. oRAR 3o e =
FISHTER T T
TR R e |
IR F -G
SIS 3 e il 0N
Preaferfim % & o e Ry
mﬁma@mﬁﬁmwﬁw%m

(1) A—)B—)C—)E—)D—-)Fm |
2 BC->DoF—-EoA
3 BobA-D>SC->S5F->E
4 B5A-5D-SF5CHE

e TR e 3 Rl R
T F P I & ok T s @
AH S ) F5d T THRISA FERS |
TR STeRTes g ST Rl o R R -
o) Pt @ swrw iy

AE0Q
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104. Which of the following is ‘Action

mem

105,

106,

107.

(3) =EEF R () frvdvw ¥y

verb’ related to “Application”
component under cégnitive domain ?
(1) Define (2) ‘Recall

(3) Predict (4) Recognize

Which of the following is the second
step of Inductive Method: ?

(1) Observation
(2) Example

_{8) Verification

(4) Generalization

Steps of Project method given
below in jumble form :

Choosing and Purposing project
Providing a situation
Execution the project

Planning of the project
Recording of the project
Evaluation.of the project

Whlch of ‘the following option
have correct logical order of steps
regarding Project method ?

1) AsB5CSE>SD-F
2 BoCo>DSFoSE—SA
3 B5oA->DoSC—oFSE
49 B A->D3F—-5C>E -

=ESowp

A mathematics teacher provided
various triangles to students and
told them to measure interior angle
of each triangle and get the total
and generalize it.

The method of teaching adopted by
teacher is —

(1) Deductive method

(2) Inductive method

(3) Lecture method

(4) Analytical method
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108. A method

. Which of the

in which teacher

provides some notes on related

topic of teaching and students tried

to h1gh11§ﬁlt the 1mp0rtant point.

During this teacher ‘give them

guidance. Then teachér and

student reach the solution of the

problems through , some

presentation and question.

This method is known as’

(1) Inductive method

(2) Supervised'study method

(3) Project method

(4) Programmed
(instruction) method

learning

. Which of the followingris not the

principle of constructivist learning ?

(1) Learning is an active process.

(2) Learning exists in the mind.

(8) Learners build new knowledge
upon the foundation of
previous knowledge.

(4) Each individual learner has a
same point of view based on
existing knowledge.

psychologists
contributed: in developing five step
approach of lesson plan after
getting correction in initial four
steps developed by Herbert ?

(1) Ziiler (2) Krethwal

(3) Robert Megar (4} Morrison

. A mathematics teacher makes 10

teaching period plan to teach
“circle” on the basis of its sub-parts.
This planning of mathematics
teacher will be considered as :

(1) preparation of lesson plan
(2) preparation of unit plan

(3) preparation of yearly plan
(4) preparation of monthly plan

05
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112,

113.

msE
&

114,

115.

116.

Which of the following is the second
step in “Cone of experience” from
vertex of the cone ?

(1) Verbal symbol

(2). Visual symbol

{3) Contrived experiences

(4) Real Direct experiences

Use of knowledge of Arithmetic and
Algebra to -teach the topic “Total
Surface area of Cuboid” is known as ;
(1) Co-lateral correlation

(2) Uni-lateral correlation

(3) Multi-lateral correlation

(4) Branching correlation

Which of the following is

comparatively less  important

characteristics of mathematics

teacher ?

(1) Command on mathematics
subject

(2) Knowledge of other subjects
to teach mathematics

(3) Ability to teach mathematics in
behavioural aspect

(4) Physical look of mathematics
teacher -

Which of the fol;lowing is not the

correct principle of curriculum

development.in Mathematics ?

(1) Principle of Logical v/s
Psychological order:

(2) Principle of ‘Topical v/s
Concentric order

(3) Principle of Separation

(4) Principle of Organised v/s
Incidental teaching

Which of the following is not the

contribution of ‘Bhaskaracharya’ ?

(1) Differential coefficient

(2) Basic elements of Rolles
theorem .

(3) Cubic equation

(4) Decimal system

| 98
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117. A mathematics teacher, gives the
question in his ach1evement test that
“Draw the cuboid of measurement
4 x 5 x 6 ecm®, This. question is
related to-which domain.?

(1) Cognitive (2) Affective
(3) Psychomotor (4) Behavioural

A mathematxcs teacher give a

question “Sum of interior angle of

" triangle is ...... ? In his unit test,

this question’ related<%to which

e domain ?

i (1) Knowledge
(3) Valuing

1
B Which of the fo}.lowmg components
Yl
is not essential for préparing Blue
¢¢» Print of the achievement tést ?
(1) Unit wise distribution.
w (2) Marking per unit
distribution. ’
CJ'I (3) Objectives with weightage per
Py unit wise distribution.

N (4) Distribution according to

O number of students’ appearing -

in the examination.

120. A test- which is prepare with the
purpose of identifying cause of
difficulty/errors of students is

€3 ‘known as

=% (1) Diagnostic test

O (2) Achievement test

S (3) Performance test -

CF *(4) Skill test

12D, Which of the followmg cannot be
the enrichment programme  in
Mathematics for Gifted students ?

118.

(2) ,Applicat'ion
(4) Receéiving

\"LL‘

wise

C.O(l) Motivate the student for
participating in  different
competitive examination.

D(.‘?.) Motivate the student to

&3 participate- in ‘exhibition &

8 fairs related to mathematics.

(3) Doing homework timely.
(4) Motivate to participate in
2 différent projects of
HE mathematics.
05
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. Adenosine is :

(1) A nitrogenous organic base
(2). A ribonucleoside

(3) A ribonucleotide

(4) A deoxyribonucleotide

Select incorrect statement :
(1) Microtubules helps
_maintaining cell shape.
Microtubules participate in
cell plate formation.
Mierotubules ,involved in cell
movement, -
Microtubules participate in
intracellular transport.

in
@)
3
€Y

Chitin is a polymer of ;
(1) glucose (2) glucosamine
(3) glycan (4) glycerol

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-11

(Genetic (Associated
Disorder) with)

Sickle-cell (i) Chromosome
anaemia No. 12

Cystic fibrosis (i) X chromosome
Colour
Blindness

(11i) Chromosome
No. 11

. Phenylketonuria (iv) Chromosome

No. 7
Codes :
A B C D

) av) @) @ @

L@ @) (v) () O

3 O
(4 @)

(i) (v), (i)
M (i) @v)
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127.
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A I AB TR OE U G @

(2) USeTdi<hl - .

(3) FEIUTGT T

(4) EIHTIeRT i _
frferas 3 @ fril 7 = Ty feiEEe
o1 T w9 | R T AR 7

(1) FEIEEH

2) Wewgerd

(8) Rpeiremt o

(4) sweTEer T e S 3

g dieree % Prefifea fpa swg % a@
YR ARG B S ?

(1) g @ fo=gen

(3) “aferen (4) wIERARE

A I EEE B —

(1) aEEiIeme

2) siftRef= =

(3) whii-gaefis =l

(4) PR

1 wig "ol sl g ad 3 vt
(afrfartivr) fomen 7Tt 2

(1) 1952 (2) 1962

(3) 1972 (4) 1982
frefifen § ¥ 99 THERTEE g1 °
ﬁaﬂwm%mﬁmm% ?

(1) NO (2) NO,

@) IS (4) CO,

T 3 Fefafaa 3 @ 99 @ ot
Y ¥ Hgeu ey wiwa: g %

TR E ?

"*fa"gﬂ '
C|

127.

128.

132.

126.

" (3) Vellela
129,

130.

131.

AB blood group in humans is an
example of :

(1) Incomplete-dominance

(2) Epistasis '

(3) Codominance

(4) Pleiotropy :

In which of the following, male and
female gametophytes do not have

an independent free living

existence ?

1 Bryophyta

(2): Pteridophyta Y

(3) Gymnosperms

(4 In both Bryophyta and
Pteridophyta

In which of the following animal of

Phylum Colenterata, pneumatophore
is present ? ’
(1) Tubipora (2) Pennatula

(4) Physalia

Sea horse is a member of :
(1) Cyclostomata

(2) Osteichthyes

(3) Condricthyes

(4) .Amphibia

Wild Life Protection Act was
enactéd in which year ?

(1) 1952 (2) 1962

(3) 1972 (4y 1982

Which of the following acts as

secondary precursor of
photochemical smog ?
(1) NO (2) NO,

(3) Ozone 4 CO,
Which among the following is a

critically endangered plant species
of economic value in Rajasthan ? |

(1) Withania somnifera
(2) Solanum nigrum
(38) Ceropegia odorata.
(4) Ipomoea fistulosa
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133 fmfefem & @ # @ Wemm
TYREATE ? 5
(1) yYAC © ° (2) EcoRI
(3) M3 (@) Cdn |
134. Hifee g% gavyH YR frarm - K
(1) =ifeR AR @

(3) =R 3Tt 7 B o gam
(4) Rl SR 976 s @

185, Tt # @ freeht wiefrRs 99 Ruam
(PCR) = S Snawrerar 781 & 7
(1) StevFeimE=RrEeRe |
(2) TRe A
(3) MW, IER
(4) Taq Wefims

136. =8, BIA HRET St o H
FRfa A M it wasd 2
(1) R (2) wrEAeeEnE
(3) TigEEm (1) enfEeARer

137. 95 E ; T
(1) HasiE
2) et weitslt B
(3) nfdyeped) wafielt ’
(4 et gy - ”
138. It e § ffrieg § € W @
SR 1T I ST 8 7
(1) wifsem (2) qss - I[
(8) HIsH | (4) T |
139. giw-wiod figia & ar gfer &7 |
FHRE S R Fwdmd: |
W) s (@) I, |
(3) wivr @) frdw ” |
05 ' ' 29

133.

134.

'II'!IEI

(2) AR R o T FREE @ | ” =
- 135.
136.

137.

138,

139.

GET IT ON
Google Play

Which of the following is- a.
restriction endonuclease ?

(1) yAC (2) EcoRI

(3) M3 (4) Cdn

The cosmid vector first time
developed by

»(1) Bolivar and Rodriguez

(2) Barbara Horn and John
Collins

(3) Werner Arber and Hamllton
Smith

(4) Stanley Cohen and Herbert
Boyer

Which among the following is not
required during Polymerase
Chain Reaction (PCR) ?

(1) Deoxyribonucleotides

(2) Template strand

(3) RNA primers

(4) Taq polymerase

The smallest cell which can
survive without.oxygén is :

(1) Eubacteria

(2) Cyanobacteria

(3) Mycoplasma

(4) Archaebacteria

Viruses are :

(1) Saprophytes

(2) Pacultative parasites
(3) Obligate parasites

(4) Facultative saprophytes

Which of the followmg type of
inflorescence found in sunflower
plant-?

(1) Spadix

(2) Umbel '

(8) Capitulum

(4) Polychasial cymose

Accordmg to tumca-corpus theory,
the plane of cell division in tunica
zZone is :

(1) Transverse
(3) Periclinal

(2) Anticlinal
(4) Oblique
o

i',
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Prefifaa o & i w1 wed ad g ] ?

(1) vew § d-ugrel H W g
el dar g |

(2) v 3 qi-gent =1 T faReita
BRI

(3) EEH B el T T HaE TwHieHid,
AR |

(4) S T WHT H ACRE I
Rfvnt =1 aited ff w6 S g
Bag |

qef T e e % dRH 9o B

wheer s o S Rt & ™R

SR W # wikee iy %
ST -F1Y Bl B, FEAW 8¢

(1) wHrEnEes i

(2) wgad i

(3) TSN

@) o (Rrgam)

TR wienieRm S e -

(1) TRfeaE (@) SR
(3) ARAHIAE (4) UgsrETH
frfefae & @ @ € ghem e J
HE7 TEsiEEES (CO,) fRrimwr @
HafaTEi e 7

(1) FHfea-aw =k

(2) TT-WH Th

(3) e TFH

() FERRRE 1T ST

o9 G A GE-HE (-0
T v 2 < wEeht WA :

(1) mfaiia @R | -

(2) TR |

(3) wGHE |

(4) TR |

140,
5

141.

143.

144.

30

142.

Which among the

statement is not correct ?

(1) Movement of food substances
in phloem is  always
unidirectional,,

(2) Movement of food substances
in phloem is bizdirectional.

(8) Movement of water in xylem is
always unidirectional.

(4) Along water and sucrose other
compounds also’’ transported
through phlo'em .

following

In plant, during watel absorptlon,
when movement of Wwater occurs
exclusively through vintercellular
spaces alongwith the -wall of the
cells without crossmg the cell
membrane, it is called *”

(1) Apoplastic movemp_nt

(2) Symplastic movement

(3) Transpiration '

(4) Guttation -

Oxidative phosphorylation occurs
in

(1) Chlorophyll (2) Cytoplasm
(3) Mitochondria (4) Ribosome
Which among the following process
is not associdted with carbon
dioxide, (CO,) fixation in plants ?
(1) Calvin-Benson cycle

(2) Hatch-Slack cycle

(8) Krebscycle

(4) Crassulacean acid metabolism

When co- -factor is removed from the
enzyme, its activity

(1) remains unchanged.
(2) is lost.

(3) increases.

(4) decreases.
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145, mmnss ﬁ@ % WERN  SNiaERT | 145. Cynaide kills an animal by
TIATEA B el 0k TR 8, 98 % inhibiting enzyme éytochrome
; IE R ¢ | 1! oxidase. It is an example of :
, (1) s fde = (1) Competitive inhibition
@ Wﬁ‘ﬂﬂ‘ﬂ | (@) Feedbackﬂin.hibition .
L @ - ’2 B (3) Non-conipetitive inhibition
; i o] i o || (4) Denaturation of proteins
' 6. ffifas, & @ 2% @ ﬁﬁﬁ 146. Which of the following is not a
] FREER TR 7 P natural phytohormone ?
D mmqﬁg ) (1) Indole acetic acid
f ©) T R f(‘g U (2) Indole butyric acid
_ q(ers (3) Ethylene,
g T () Maleic hydrazide
- ] ‘.
147. Pl & & 27 e 7% 7% | 147, Which  of the following plant
UM % ‘S A % fire o @ o growth regulator is responsible for
1) P 8 | “bakane disease” of rice ?
@ T N ‘ (1) zeatin
- 0O (2) ethaphone
(8) Toretier 5 (3) gibberellin
(4) wSia-3-ueifs I (4) indole-3-acetic aci
-3- id
148, wiiifés i g & aRedT S wHEAT | 148. The process of transformation of
FIAT R ~ o spermatids into spermatozoa is
(1) TORRARE (WEORRH) = ll called —
1 (1) Spermatogenesis
(2) Wﬁﬁﬂ? c | ) 4
o X (2) Spermiation
| E4; Fqﬂélli!l’-’l.qt o (3) Spermatogonia
iR o | (4) Spermiogenesis
149._i|1§<_'llq.ﬂ7{ %Wﬂﬂﬁﬂ?ﬂﬂ%ﬁ[‘@?ﬁ% | 149: The  cavity formed during
(1) 3T Q) =R gastrulation is : '
3) m (&) EE (1) Coelenteron (2) Archenteron
o ent o% ]l (3) Blastocoel (4) Haemocoel
150, “siten fed=" way “wrpls wﬁaﬁ ﬁ
r & S TR & 7 o “150. “Branching descent” and “Natural
: (1) R &; l | Selection” are two key concepts of —
(2) TAAAEAR © . 83 ;amir"kismk.
3 ea-Lamarckism
3 Eﬁhamw Rigra |1' (3) Hugo de Vried’ theory
4) siidaTg | (4) Darwinism
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